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1 (fgArea = NA)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

—@— PHO
7.4
7.2 4
7.0 1
6.8 1
6.6 - arnjng: colf ["FVOPH 1 is missing
[ ] o
0 10 20 30 40 50 60 70



Trend plot forP3-15 0
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== Fit vs obs: a=1.12, b=-166.3, r=0.96
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P3-15

BiE) | GEBRTK (F) | ERE(EA/AR) | EREREGB/R) (XS R

07:20 283 150.0 2. 888 RS FiHRe07:20 KREIBF (KRAERSE)
07:55 283 150.0 2.888 BS| FmHA@O7:55 KENFEF (RAMEESE)
08:30 283 150.0 2. 888 RS ThHA@O8:30 KENFEF (KAfEEEE)
09:05 283 150.0 2.888 RS FiHAe09:05 KREFEF (KREERHSE)
09:50 283 150.0 2.888 Bg| THA@09:50 KENFESF (ARF1EREE)
10:30 283 150.0 2. 888 RS ThEA@10:30 KENIEF (CRAFEER)
11:05 283 150.0 2.888 BE| TaHA@11:05 KENFEF (RAMEREEE)
11:40 283 150.0 2.888 RS FRHRe11:40 REIEF (REAEESE)
12:15 283 150.0 2.888 RS ThHAe12:15 KENIEF CGRAFERER)
12:50 283 150.0 2. 888 RS FiHRe12:50 KREEFE (GREAERSE)
13:25 283 150.0 2.888 RS FiHRe13:25 REHEBFE (REAERSR)
14:00 283 150.0 2.888 BS| TMHA@14:00 KRENFEF (RAFESE)
14:35 283 150.0 2. 888 RS FiHRe14:35 KREEBF GREAERS)
15:15 283 150.0 2.888 RS FiHRe15:15 REBFE GREAERSR)
16:00 283 150.0 2.888 BS| TMHA@16:00 KENFEF (RAEESE)
16:50 283 150.0 2. 888 RS ThEAe16:50 KENFEF (KAHEEE)
2t 4528.0 (16:%) 2400.0 U REC: 2080.0, PH: 5.7

P EIKRECE (1877.0 vs 5200.0) d5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=68 (2025-06—07)

VI, VB3RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
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P3-15

ByiE) | EBIAT (FD) | ERE (EA/4) | EREE(B/R) | XS EFRF

06:40 283 150.0 2. 888 BE| {Ri%e06:40 Bz (REERESE)
07:10 283 150.0 2.888 el Ri&e07:10 Bal (REAEESE)
07:40 283 150.0 2.888 RS {Ri&e07:40 B (REAEHE)
08:25 283 150.0 2. 888 RS {RRi%e08:25 Bz (REEREE)
09:00 283 150.0 2.888 A5 {Ri%@09:00 B (REERER)
09:35 283 150.0 2. 888 B {Ri&@09:35 Bz (REERESE)
10:15 283 150.0 2.888 BS| 1Ri%e10:15 Bz CGGREMEESE)
11:00 283 150.0 2.888 S| Ri%e11:00 Bz (REERR)
11:40 283 150.0 2.888 B Rige11:40 Bz (REAERSE)
12:15 283 150.0 2.888 B Rige12:15 Bz (REAERE)
12:50 283 150.0 2. 888 B Rige12:50 Bz (REAERSE)
13:20 283 150.0 2.888 el Rige13:20 Ba) (REAEHSE)
13:50 283 150.0 2.888 RSl Rige13:50 Bz (REAEHE)
14:20 283 150.0 2. 888 B Rige14:20 Bz (REAERSE)
14:50 283 150.0 2.888 BE| Rige14:50 Ba) (REAEESE)
15:20 283 150.0 2.888 BE| Rige15:20 Ba (REAERE)
15:50 283 150.0 2. 888 BE| Rige15:50 Bz (REAERSE)
16:25 283 150.0 2. 888 el Rige16:25 Bal (REAEESE)
17:05 283 150.0 2.888 el Rige17:05 Bzl (REAEHSE)
23t 5377.0 (19%) 2850.0 3ESHKEC: 2080.0, PH: 5.8

FEREHEME STEAEARS (184.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (250:71.0), set to 250 ml.
#E[E]RECE (1820.0 vs 5037.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=67 (2025-06-06)
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P3-15

BflE) | GEBRTK () | ERE (EA/) | EREE(B/R) | XS ERR

06:00 283 150.0 2.888 RS {RRi%e06:00 B (REAERHE)
06:40 283 150.0 2. 888 BE| {Ri%e06:40 Bz (REEREE)
07:25 283 150.0 2. 888 BE| {Ri&e07:25 Bnl (REEESE)
08:40 283 150.0 2.888 [Z=| 1Ri&e08:40 Bzh (FEEEEE)
09:15 283 150.0 2. 888 FH| 1BRi&@09:15 B (kAFEREE)
09:55 283 150.0 2.888 FH| 1Bi&@09:55 Bzh (RAEREE)
10:35 283 150.0 2.888 FA| {Ri&@10:35 Bzl (GRAEEE)
11:20 283 150.0 2. 888 FA| {Ri&e11:20 Bz (GGRAERE)
12:05 283 150.0 2.888 FA| 1Bi&e12:05 Bzh (RAERSE)
12:45 283 150.0 2.888 FH| 1Ri%@12:45 Bzh (REBERSE)
13:25 283 150.0 2.888 |Z=| {Rige13:25 Bz (REAEZEHE)
14:00 283 150.0 2.888 |Z=| {Ri&e14:00 Bz (KREAEHE)
14:35 283 150.0 2.888 [Z=| 1BRige14:35 Bzh (REEESR)
15:40 283 150.0 2.888 |Z=| {Rige15:40 Bz (REAEHE)
16:40 283 150.0 2.888 |Z=| {Rige16:40 Bz (KREAEHE)
Bit| 4245.0 (15%%) 2250.0 3 WFKEC: 2080.0, PH: 5.9

TERRHLER 2 STEELRTF (184.0 :

PRIAEBRIERE147.0 ml.

147.0), AlEEHT—RE XA HS

large discrepency for begining water status (352:11.0), set to 352 ml.
BE[ERECE (1773.0 vs 5123.0) 35
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P3-15

FfiE) | EBIATK (FD) | ERE (BEA/4) | BEREE(B/R) | XS ERE

07:00 288 150.0 2. 888 S| 1Ri%e07:00 B (RF{EREE)
07:35 288 150.0 2. 888 BE| {Ri&e07:35 Bal (REERHSE)
08:05 288 150.0 2.888 BE| {RRi%e08:05 Bz (RFEAERHE)
08:35 288 150.0 2. 888 BE| {Ri%e08:35 Bz (REAMEREE)
09:05 288 150.0 2.888 S| 1Rige09:05 Bah (FREEESE)
09:40 288 150.0 2.888 RS {Ri%009:40 Bl (REAEHE)
10:20 288 150.0 2. 888 e Ri8@10:20 Bz (REAERSE)
11:05 288 150.0 2.888 el Rige11:05 Bal (REERESE)
11:50 288 150.0 2.888 el Rige11:50 Bz (REAERSE)
12:30 288 150.0 2. 888 e Rige12:30 Bz (REAERSE)
13:05 288 150.0 2. 888 el Rige13:05 Bal (REAEESE)
13:40 288 150.0 2.888 S| Rige13:40 Bal (REAEHE)
14:10 288 150.0 2.888 B 1Rige14:10 Bz CGREMEESE)
14:40 288 150.0 2.888 S| Ri%e14:40 Bz (REAERESR)
15:10 288 150.0 2.888 B Rige15:10 Bz (REAERSE)
15:40 288 150.0 2.888 BS| 1Ri%e15:40 B3 CGREMEESE)
16:10 288 150.0 2. 888 S| Ri%e16:10 B (RF{EREE)
16:50 288 150.0 2. 888 el Rige16:50 B (REAEHE)
2it]5184.0 (18%) 2700. 0 3ESHKEC: 2080.0, PH: 5.8

TERRHLER 2 STEEARTF (187.0 :

ZRIALBRERE150. 0 ml.

150.0), AIEEHT—@ % XA HS

large discrepency for begining water status (340:60.0), set to 340 ml.
#[E;%ECZE (1780.0 vs 5127.0) 35




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=65 (2025-06—04)
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m=990, FV0=0 m=1035, FV0=0 m=465, FV0=0

—— ME —0— ME 49 - —0— MW —0— MW
34.0 A 34.5
33.5 - 40 -
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T T T 31.5 +5 T T T T T T T T
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39.5 ~
39.0 + 39.5 A
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38.0 4 38.5
37.5 i
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37.0 A
? T T T T T 37.0 T T T 37.5 1 T T T
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39.0 A
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780 785 790 820 825 830 855 860 865 885 890 895
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P3-15

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:15 300 150.0 2. 888 B {Ri&e07:15 Fzh (REAERSE)
07:50 300 150.0 2.888 RS {Ri&@07:50 Fz (REAEHE)
08:35 300 150. 0 2.888 BE| 1BRi%e08:35 Fzh (KRFIEREE)
09:15 300 150. 0 2.888 s 1BRi%e09:15 Fzh (REERSE)
09:55 300 150.0 2.888 RS {Ri&e09:55 Fz (REAEHE)
10:40 300 150. 0 2.888 BE| 1Ri%e10:40 Fzh (KAL)
11:30 300 150. 0 2.888 e Bi%e11:30 Fz (REERSE)
12:10 300 150.0 2.888 el Rige12:10 Fz (REAEHE)
12:50 300 150. 0 2.888 BE| Ri%e12:50 Fzh (REAERSE)
13:30 300 150. 0 2.888 el Rige13:30 Fz (REAEEE)
14:00 300 150.0 2.888 sl Rige14:00 Fz (REAEHE)
14:35 300 150.0 2.888 BS| 1Ri%e14:35 Fzh CGREAEESE)
15:10 300 150. 0 2.888 Bl Rige15:10 Fzi (REEESE)
15:45 300 150.0 2.888 RS Rige15:45 Fz (REAEHE)
16:20 300 150.0 2.888 BS| 1Ri%e16:20 Fz (GREAEESE)
17:10 300 150. 0 2.888 BE| BRi%e17:10 F3h (GGRFEAERESE)
23t 4800.0 (16)%) 2400.0 333 KEC: 2080.0, PH: 5.7
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.7

Warning: lcol ['PHB’,| 'PHC’'] missing
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